BLANKET PURCHASE ORDER STATE OF MARYLAND

BPO NO: 001B3400384

PRINT DATE: 10/31/15

PAGE: 01

SHIP TO:	
AS SPECIFIED ON INDIVIDUAL ORDERS	
VENDOR ID: ARC OF BALTIMORE 6151 METRO DR BALTIMORE, MD 21215 (410)653-3252 EXT 5420	REFER QUESTIONS TO: JAMIKA BOWEN (410)767-8735 JAMIKA.BOWEN@MARYLAND.GOV
ITB: H00R3400039 EXPR DATE: 03/01/18 POST DATE: 02/25/13	

TERMS:

ARTICLES HEREIN ARE EXEMPT FROM MARYLAND SALES AND USE TAXES BY EXEMPTION CERTIFICATE NUMBER 3000256-3 AND FROM FEDERAL EXCISE TAXES BY EXEMPTION NUMBER 52-73-0358K. IT IS THE VENDOR'S RESPONSIBILITY TO ADVISE COMMON CARRIERS THAT AGENCIES OF THE STATE OF MARYLAND ARE EXEMPT FROM TRANSPORTATION TAX.

DEPARTMENT OF GENERAL SERVICES OPERATING FUNDS:

H00 13 33459 0813 - \$28,333.39 H00 14 33459 0813 - \$85,000.16 H00 15 33459 0813 - \$85,000.16 H00 16 33459 0813 - \$85,000.16 H00 17 33459 0813 - \$85,000.16 H00 18 33459 0813 - \$56,666.77

MINORITY BUSINESS ENTERPRISE PARTICIPATION = 100%

LINE # STATE ITEM ID U/M UNIT COST

0001 91039-CUSTOD LT 245,197.8000

CUSTODIAL SERVICES

TO PROVIDE JANITORIAL SERVICES FOR DGS, BALTIMORE PUBLIC BUILDINGS AND GROUNDS I.H.C., HILTON HEIGHTS CENTER, LOCATED AT 500 N. HILTON STREET FOR A PERIOD OF FIVE (5) YEARS BEGINNING MARCH 1, 2013 THROUGH FEBRUARY 28, 2018 IN ACCORDANCE WITH THE TERMS, CONDITIONS AND SPECIFICATIONS.

COST = \$4,086.63 * 60 MONTHS = \$245,197.80

*** CONTINUED, NEXT PAGE ***

BLANKET PURCHASE ORDER STATE OF MARYLAND **BPO NO:** 001B3400384 **PRINT DATE:** 10/31/15 **PAGE:** 02 STATE ITEM ID LINE # U/M **UNIT COST** 0002 91039-JANALT LT9,921.4000 JANITORIAL ADD ALTERNATE (WINDOW WASHING, CLEAN CARPETS, ETC.) ADD ALTERNATE #1 CARPET EXTRACTION - 500 N. HILTON STREET (SEMI ANNUALLY) FOR THE ENTIRE FIVE (5) YEAR TERM OF THE CONTRACT. COST = \$992.14 * 10 TIMES = \$9,921.40 0003 91039-JANALT LT11,979.3000 JANITORIAL ADD ALTERNATE (WINDOW WASHING, CLEAN CARPETS, ETC.) ADD ALTERNATE #2 STRIPPING/FINISHING TILE - 500 N. HILTON STREET (SEMI ANNUALLY) FOR THE ENTIRE FIVE (5) YEAR TERM OF THE CONTRACT. COST = \$1,197.93 * 10 TIMES = \$11,979.30 0004 91039-JANALT LT1,350.0000 JANITORIAL ADD ALTERNATE (WINDOW WASHING, CLEAN CARPETS, ETC.) ADD ALTERNATE #3 CLEAN VENETIAN BLINDS - 500 N. HILTON STREET (ANNUALLY) FOR THE ENTIRE FIVE (5) YEAR TERM OF THE CONTRACT. COST = \$270.00 * 5 TIMES = \$1,350.000005 91039-JANALT 2,325.0000 LTJANITORIAL ADD ALTERNATE (WINDOW WASHING, CLEAN CARPETS, ETC.)

*** CONTINUED, NEXT PAGE ***

BLANKET PURCHASE ORDER STATE OF MARYLAND

BPO NO: 001B3400384

PRINT DATE: 10/31/15

PAGE: 03

STATE ITEM ID LINE # U/M **UNIT COST**

ADD ALTERNATE #4

CLEAN LIGHT FIXTURES - 500 N. HILTON STREET (ANNUALLY) FOR THE ENTIRE FIVE (5) YEAR TERM OF THE CONTRACT.

COST = \$465.00 * 5 TIMES = \$2,325.00

0006 91039-CUSTOD LT 146,111.5000

CUSTODIAL SERVICES

TO PROVIDE JANITORIAL SERVICES FOR DGS, BALTIMORE PUBLIC BUILDINGS AND GROUNDS I.H.C., HILTON HEIGHTS CENTER, LOCATED AT 530 N. HILTON STREET FOR A PERIOD OF FIVE (5) YEARS BEGINNING MARCH 1, 2013 THROUGH FEBRUARY 28, 2018 IN ACCORDANCE WITH THE TERMS CONDITIONS AND SPECIFICATIONS.

COST = \$2,435.18 * 60 MONTHS = \$146,110.80

0007 91039-JANALT LT5,976.2000

JANITORIAL ADD ALTERNATE (WINDOW WASHING, CLEAN CARPETS, ETC.)

ADD ALTERNATE #1

CARPET EXTRACTION - 530 N. HILTON STREET (SEMI ANNUALLY) FOR THE ENTIRE FIVE (5) YEAR TERM OF THE CONTRACT.

COST = \$597.62 * 10 TIMES = \$5,976.20

0008 91039-JANALT LT2,139.6000

JANITORIAL ADD ALTERNATE (WINDOW WASHING, CLEAN CARPETS, ETC.)

ADD ALTERNATE #2

STRIPPING/FINISHING TILE - 530 N. HILTON STREET (SEMI ANNUALLY) FOR THE ENTIRE FIVE (5) YEAR TERM OF THE CONTRACT.

COST = \$213.96 * 10 TIMES = \$2,139.60

*** CONTINUED, NEXT PAGE ***

BLANKET PURCHASE ORDER STATE OF MARYLAND

BPO NO: 001B3400384 **PRINT DATE:** 10/31/15

PAGE: 04

LINE # STATE ITEM ID U/M UNIT COST

NOTE: THIS CONTRACT SHOULD BE \$425,000.80. THE CONTRACT WILL INCLUDE A DIFFERENCE IN PRICE OF \$0.70 MORE IN THE CONTRACT. PLEASE PAY THE DIFFERENCE AT THE END OF THE CONTRACT.

_____ END OF ITEM LIST _____

THE BLANKET PURCHASE ORDER (BPO) ISSUED AS A RESULT OF THE INVITATION TO BID (ITB) AND ANY SUBSEQUESNT AMENDMENTS, MODIFICATIONS OR OPTIONS ISSUED RELEVANT TO THE ITB OR BPO, SHALL COMPLY WITH ALL THE TERMS, CONDITIONS AND SPECIFICATIONS ISSUED WITH THE ITB AND ARE INCORPORATED IN AND MADE PART OF THE BPO.

STATE YOUR FEDERAL TAX IDENTIFICATION # 52-0671428

DEPARTMENT OF TRANSPORTATION CERTIFIED MINORITY BUSINESS: 92-108 MDOT'S MBE CERTIFICATION NUMBER

******* LAST PAGE *******